
ASSEMBLY INSTRUCTION
INSTRUCTIONS DE MONTAGE

FULL BED 
DOUBLE LE LIT

PAGE 1 OF 39 / PAGE 1 DE 39

 N709P221543K / N709P221548K / N709P221551K

Tip: This product is recommended to be installed by two people.
Conseil: il est recommandé que deux personnes installent ce produit.



PAGE 2 OF 39
PAGE 2 DE 39

SAFETY WARNINGS AND GENERAL NOTES:
1.Follow the information on the wamings on the upper bunk bed end structure and
on thecarton. Do not remove the warning label from the bed.
2.Always use the recommended size mattress or maltress support, or both, to
help prevent the likelihood of entrapment or falls.
3.Do not allow children under 6 years of age to use the upper bunk.
4.Periodically check and ensure the guardrail, ladder and other componenis are in
theirproper position, free fom damage, and all conneclors are tight.
5.Do not allow horseplay on or under beds.
6.Always prohibit jumping on the bed.
7.Prohibit more than one person on upper bunk.
8.Always use the ladder for entering and leaving the upper bunk.
9.Do not use substitule parts. Contact the manufacturer or dealer for replacement
parts.
10.Use of a night light may provide added safety precaution for a child using the
upper bunk.
11.Always use guardrais on both long sides of the upper bunk.
12.lf the bunk bed will be placed next to a wal, the guardrail that runs the full
length of the bed should be placed against the wall to prevent entrapment
between the bed and the wal. The use of water or sleep flotation mattresses is
prohibiled.
13.STRANGULATION HAZARD-Never attach or hang items to any part of the
bunk bed that are not designed for use with the bed; for example, but not limited
to, hooks, belts and jump ropes.
14.Keep these instructions for future reference.
15.We recommend assembling your bunk bed on the shipping carton to protect
your floor or carpet.
16.Be certain all staples are out of the box before beginning assembly on the
shipping carton.
17.USE ONLY MATTRESSES WHICH ARE AS THE TABLE BELOW ON UPPER
BUNK.

Bed type Length Width Thickness
Full Standard             75'' 54'' 6'' max
18.SURFACE OF MATTRESS MUST BE AT LEAST 5"(127MM) BELOW THE
UPPER EDGE OF GUARDRAILS.
19.Replacement Parts:
Replacement Parts, including additional guardrais, may be obtained from any of
our(GIGACLOUD TECHNOLOGY(USA) INC) dealers.



PAGE 3 OF 39
PAGE 3 DE 39

AVERTISSEMENTS DESÉCURITÉ ET REMARQUES GÉNÉRALES :

1.Suivez les informations sur les avertissements figurant sur la structure d'extrémité
superieuredu lit superposé et sur le carton,Ne retirez paslétiquette davertissement du lit.
2.Utilisez toujours le matel as ou le support de matelas de taile recommandee,ou les deux,
pouiéviter tout risque de coincement ou de chute.
3.Ne laissez pas lesenlants de moins de 6 ans utiliserle lit supérieur.
4.Verifiez periodiquement et assurezwous que le garde-corps, i'echelle et les autres
composants sont dans leur bonne position, exempts de dommases et que tous les connecteurs
sont bien seres.
5.Ne laissez pas leschahuts sur ou sousles lits.
6.Interdisez toujoursde sauter sur le lit.
7.Interdire plus dune personne surla couchette supérieure.
8.Utilissez toujours réchelle pour entrer et sor tir du lit supérieur.
9. N'utilisez pas de pieces de rechange. Contactez le fabricant ou le revendeur pour obtenir des
piècesde rechange.
10.L'utilisation dune veilleuse peut fournir une mesure de securité supplementaire pour urenlant
utilisant le lit supéieur.
11.Utilisez toujours des eardecorps sur les deux cotés lones du lit supérieur.
12.Si le lit superposé doit étre plscé à cóté d'un mur, le garde-corps qui s'étend sur toute
lalongueur du lit doit étre placé contre le mur pour éviter tout coincement entre le lit et le
mur.L’utilisation de matelas flottants à eau ou de sommeil estinterdite.
13.RISQUE D'ETRANGULATON - N'attachez ou ne suspendez jamais d'objets à une partie du
litsuper posé qui ne sont pas congu pour étre ut iisé avec le lit, par exemple, mais sans sy
limiter.des crochets, des ceintureset descordes asauter.
14.Conservez ces instructions pour réference future.
15.Nous vous recommandons d'assembler votre lit superposé sur le carton d'expédition
pourprotéper votre solou wotre tapis.
16.Assurezvous que toutes les agrales sont sorties de la boite avant de commencer
lassemblage sur le carton d'expédition.
17.Upper bed(bunk bed and tribed included)
UTILISEZ UNIQUEMENT DES MATELAS QUI SONT CONFORMES AU TABLEAU
CI-DESSOUS SUR LA COUCHETTE SUPÉRIEURE.
Lit supérieur (lit superposé et lit à barreaux inclus)

Type de lit Longueur Larseur Épaisseur
Norme complète         75'' 54'' 6'' max
18.LA SURFACE DU MATELAS DOIT ETRE AU MOINS S*127 MM) EN DESSOUS DU
BORDSUPERIEUR DES GARDECORPS.
19.Pièces de rechanse :
Les pieces de rechange, y compris les garde-corps supplémentaires, peuvent étre
obtenuesauprèsde lun de nos revendeurs (GIACLOUD TECHNOLOGY(USA) INC.)



㊻*1㊺*1 ㊼*1 ㊾*1 ㊿*1

53*1 54*3 55*1 56*1

㊹*1㊸*1㊶*1 ㊷*1

63*1

㉙*3

ASSEMBLY INSTRUCTION
INSTRUCTIONS DE MONTAGE

PARTS LIST / LISTE DE PIÈCES

①*1 ②*1 ③*1 ④*1 ⑤*1
PAGE 4 OF 39 
PAGE 4 DE 39

BOX1   N709P221543K

BOX2   N709P221548K

58*1

64*1



ASSEMBLY INSTRUCTION
INSTRUCTIONS DE MONTAGE

PARTS LIST / LISTE DE PIÈCES

⑧*1⑥*2 ⑦*1 ⑨*1 ⑩*1

⑫*1 ⑬*1 ⑭*1 ⑮*2 ⑯*2

⑰*1 ⑱*3 ⑲*1 ㉒*1 ㉓*1

㉕*1㉔*2 ㉖*3 ㉗*1 ㉘*1

㉚*1 ㉛*2 ㉜*1 ㉝*1 ㉞*1

PAGE 5 OF 39 
PAGE 5 DE 39

BOX2   N709P221548K



M4*10
M*24 N*57

60*3 61*2 62*2

ASSEMBLY INSTRUCTION
INSTRUCTIONS DE MONTAGE

PARTS LIST / LISTE DE PIÈCES

㉟*1 ㊴*1㊳*1 ㊵*1 52*1

PAGE 6 OF 39 
PAGE 6 DE 39

A*55
M8*16

B*27
M8*35

C*1
M8*50

D*38
M6*30

E*4
M6*20

F*1
M8

G*2
M8*70

H*26
M4*30

I*1 J*1
M6

K*1
M8

L*1
M8

O*65 P*6

BOX2   N709P221548K

Q*4



㊽*1 51*1 57*1 59*1

⑳*4 ㉑*4 ㊱*1 ㊲*1⑪*12

ASSEMBLY INSTRUCTION
INSTRUCTIONS DE MONTAGE

PARTS LIST / LISTE DE PIÈCES

Tip: When installing the product, please tighten the screws by 80%. After installation is 
complete, tighten the screws by 100%.

Conseil: lors de l'installation du produit, serrez les vis à 80%. Une fois l'installation 
terminée, serrez les vis à 100%.

PAGE 7 OF 39 
PAGE 7 DE 39

BOX3   N709P221551K



PAGE 8 OF 39
PAGE 8 DE 39

①*1
②*1

A:M8*16
A*4
⑫*1

STEP 1/ÉTAPE 1

⑤*1
STEP 2/ÉTAPE 2

①

②

⑫

A

⑤

Attention: Please lock 50% first, then confirm
that the entire bed is installed without any
problems before pressing 100% firmly.
Remarque: s'il vous plaît verrouiller 50%
d'abord, puis confirmez qu'il n'y a aucun
problème avec l'installation du lit entier, puis
appuyez fermement sur 100%.

Bed frame installation steps.
Étapes d'installation du cadre de lit.



PAGE 9 OF 39
PAGE 9 DE 39

③*1

A*4
⑬*1

STEP 3/ÉTAPE 3

A:M8*16

A

③
⑬

⑥*1
STEP 4/ÉTAPE 4

⑥

Attention: Please lock 50% first, then confirm
that the entire bed is installed without any
problems before pressing 100% firmly.
Remarque: s'il vous plaît verrouiller 50%
d'abord, puis confirmez qu'il n'y a aucun
problème avec l'installation du lit entier, puis
appuyez fermement sur 100%.



PAGE 10 OF 39
PAGE 10 DE 39

④*1
⑧*1

A:M8*16
A*2
⑭*1

STEP 5/ÉTAPE 5

A

④

⑧

⑭

STEP 6/ÉTAPE 6

A*4
A:M8*16

A

Attention: Please lock 50% first, then confirm
that the entire bed is installed without any
problems before pressing 100% firmly.
Remarque: s'il vous plaît verrouiller 50%
d'abord, puis confirmez qu'il n'y a aucun
problème avec l'installation du lit entier, puis
appuyez fermement sur 100%.



A*3

㉜*1

STEP 7/ÉTAPE 7

A:M8*16

㉜

A

STEP 8/ÉTAPE 8

⑥

⑥*1

Attention: Please lock 50% first, then confirm
that the entire bed is installed without any
problems before pressing 100% firmly.
Remarque: s'il vous plaît verrouiller 50%
d'abord, puis confirmez qu'il n'y a aucun
problème avec l'installation du lit entier, puis
appuyez fermement sur 100%.

PAGE 11 OF 39
PAGE 11 DE 39



⑦*1

A*2
⑩*1

STEP 9/ÉTAPE 9

A:M8*16

⑩

⑦A

STEP 10/ÉTAPE 10

A*4
A:M8*16

A

PAGE 12 OF 39 
PAGE 12 DE 39



E*2

⑨*1

E:M6*20

⑪*12

STEP 11/ÉTAPE 11

STEP 12/ÉTAPE 12

E
⑨

⑪

PAGE 13 OF 39 
PAGE 13 DE 39



PAGE 14 OF 39 
PAGE 14 DE 39

⑮*2

B*4
⑯*2

B:M8*35

STEP 13/ÉTAPE 13

A*4

⑰*1

A:M8*16

STEP 14/ÉTAPE 14

B

⑮

⑯

⑰

A



㉒*1

STEP 15/ÉTAPE 15

⑱*3
㉗*1

A:M8*16
A*12
㉘*1

STEP 16/ÉTAPE 16

A*4A:M8*16

A

㉒

A

⑱

㉗

㉘

PAGE 15 OF 39 
PAGE 15 DE 39



⑳*4

STEP 17/ÉTAPE 17

D*16D:M6*30

㉑*4

STEP 18/ÉTAPE 18

⑳

D*16D:M6*30

D

㉑ D

PAGE 16 OF 39 
PAGE 16 DE 39



PAGE 17 OF 39 
PAGE 17 DE 39

B*1
B:M8*35

STEP 19/ÉTAPE 19

F*1
G*1

F:M8

G:M8*70

㉕*1

STEP 20/ÉTAPE 20

G
F

B*1
B:M8*35

B

㉕

B



㉔*2

STEP 21/ÉTAPE 21

A*8A:M8*16

⑲*1

STEP 22/ÉTAPE 22

B*2
B:M8*35

㉔

A

B

⑲

PAGE 18 OF 39 
PAGE 18 DE 39



㉖*3
㉚*1
㉛*2

STEP 23/ÉTAPE 23

㉞*1
B*10

B:M8*35

B

㉖

㉚

㉛

㉞

㉙

㉙*3

STEP 24/ÉTAPE 24

H*18
H:M4*30

H

PAGE 19 OF 39 
PAGE 19 DE 39



STEP 25/ÉTAPE 25

Please go to the manual for the wooden cabinet and install it 
before proceeding to the next step of installation.(P25-P39） 
Consultez le manuel de l'armoire en bois et installez -le avant 

de passer à l'étape suivante de l'installation.(P25-P39）

㉟*1
㊳*1

B*2
㊴*1

STEP 26/ÉTAPE 26

㉟㊴

㊳

B:M8*35

B

PAGE 20 OF 39 
PAGE 20 DE 39



PAGE 21 OF 39 
PAGE 21 DE 39

STEP 27/ÉTAPE 27

B*3
B:M8*35

B

These two screws are installed
inside the wooden cabinet.

Ces deux vis sont montées à
l'intérieur de la Caisse en bois.

STEP 28/ÉTAPE 28

B*3
B:M8*35

A

B

A*3
A:M8*16



㊲*1

STEP 29/ÉTAPE 29

H*8

H
㊲

H:M4*30

*1

STEP 30/ÉTAPE 30

M*2
M:M4*10

52

M

52

PAGE 22 OF 39 
PAGE 22 DE 39



㉓*1
㉝*1

D:M6*30
D*6
㊱*1

STEP 31/ÉTAPE 31

㉝

㉓

㊱

D

STEP 32/ÉTAPE 32

G*1
G:M8*70

B*2
B:M8*35

G

B

PAGE 23 OF 39 
PAGE 23 DE 39



PAGE 24 OF 39 
PAGE 24 DE 39

㊵*1

E:M6*20
E*2

STEP 33/ÉTAPE 33

A*1
C*1

C:M8*50

A:M8*16

E
A

C

㊵

Congratulations, installation is complete!
Félicitations, l'installation est terminée!



PAGE 25 OF 39 
PAGE 25  DE 39

O*4

STEP 2/ÉTAPE 2

N*11

㊶*1

STEP 1/ÉTAPE 1

㊶

N

㊻

㊼

㊻*1

㊼*1

O

Installation steps for wooden cabinet.
Étapes d'installation de l'armoire en bois.



N*6

STEP 3/ÉTAPE 3

㊺*1
N

STEP 4/ÉTAPE 4

O*8
O

㊺

Q*2

Q O*2

O

PAGE 26 OF 39 
PAGE 26  DE 39



STEP 5/ÉTAPE 5

㊹*1

STEP 6/ÉTAPE 6

㊹

㊿*1

㊿

O*2

O

PAGE 27 OF 39 
PAGE 27  DE 39



N*8

㊷*1

STEP 7/ÉTAPE 7N

㊷

STEP 8/ÉTAPE 8

O*4
O

PAGE 28 OF 39 
PAGE 28  DE 39



㊾

STEP 9/ÉTAPE 9

㊾*1

After installation, please stand the cabinet up to complete
the subsequent installation.

Une fois l'installation terminée, levez l'armoire pour terminer
l'installation ultérieure.

M

M*4

STEP 10/ÉTAPE 10

61

*261

M:M4*10
PAGE 29 OF 39 
PAGE 29  DE 39



STEP 11/ÉTAPE 11

*262

62

63

*163

STEP 12/ÉTAPE 12

PAGE 30 OF 39 
PAGE 30  DE 39



N*8

STEP 13/ÉTAPE 13

*151

51

N

O*5

STEP 14/ÉTAPE 14

O

PAGE 31 OF 39 
PAGE 31  DE 39



M*18

STEP 15/ÉTAPE 15

60

M

*360

M:M4*10

STEP 16/ÉTAPE 16

㊸*1

N

㊸

㊽*1

㊽

N*6

Q*2
O*2

Q
O

PAGE 32 OF 39 
PAGE 32 DE 39



O*6

STEP 17/ÉTAPE 17

O

N*6

STEP 18/ÉTAPE 18

N
56

*156

PAGE 33 OF 39 
PAGE 33  DE 39



64

O*4

STEP 19/ÉTAPE 19

*158

O

P*6

STEP 20/ÉTAPE 20
P

PAGE 32 OF 37
PAGE 32 DE 37

*164

58



O*2

STEP 21/ÉTAPE 21

*157

O

57

N*2

STEP 22/ÉTAPE 22

*155

55

N

PAGE 35 OF 39 
PAGE 35  DE 39



N*10

STEP 23/ÉTAPE 23

*159

59

N

STEP 24/ÉTAPE 24

*153
N

N*2

53

PAGE 36 OF 39 
PAGE 36  DE 39



O*2

STEP 25/ÉTAPE 25

O

STEP 26/ÉTAPE 26

*354

O*6

54

O

One person is needed to assist in fixing the
wooden board from step 25 to step 29.

De l'étape 25 à l'étape 29, une personne
est nécessaire pour aider à fixer la planche.

PAGE 37 OF 39 
PAGE 37  DE 39



O*2

STEP 27/ÉTAPE 27

*155

55

O

O*4

STEP 28/ÉTAPE 28

O

After installation, erect the components for final
assembly (see next step for details).
Après l'installation, l'assemblage final est effectué par
l'ensemble érigé (voir l'étape suivante pour plus de détails).

PAGE 38 OF 39 
PAGE 38  DE 39



O*12

STEP 29/ÉTAPE 29

O

Congratulations, the installation of the wooden cabinet is completed.
Félicitations, l'installation de l'armoire en bois est terminée.

PAGE 39 OF 39 
PAGE 39  DE 39


	3
	图纸和视图
	布局1


	4
	图纸和视图
	布局1


	5
	图纸和视图
	布局1


	6
	图纸和视图
	布局1


	封面
	图纸和视图
	模型


	
	1
	图纸和视图
	布局1


	2
	图纸和视图
	布局1


	3
	图纸和视图
	布局1


	4
	图纸和视图
	布局1


	5
	图纸和视图
	布局1


	6
	图纸和视图
	布局1


	7
	图纸和视图
	布局1


	8
	图纸和视图
	布局1


	9
	图纸和视图
	布局1


	10
	图纸和视图
	布局1


	11
	图纸和视图
	布局1


	12
	图纸和视图
	布局1


	13
	图纸和视图
	布局1


	14
	图纸和视图
	布局1


	15
	图纸和视图
	布局1


	16
	图纸和视图
	布局1


	17
	图纸和视图
	布局1


	16.pdf
	图纸和视图
	布局1


	14.pdf
	图纸和视图
	布局1



	
	1
	图纸和视图
	布局1


	2
	图纸和视图
	布局1


	3
	图纸和视图
	布局1


	4
	图纸和视图
	布局1


	5
	图纸和视图
	布局1


	6
	图纸和视图
	布局1


	7
	图纸和视图
	布局1


	8
	图纸和视图
	布局1


	9
	图纸和视图
	布局1


	10
	图纸和视图
	布局1


	11
	图纸和视图
	布局1


	12
	图纸和视图
	布局1


	13
	图纸和视图
	布局1


	14
	图纸和视图
	布局1


	15
	图纸和视图
	布局1



	封面
	图纸和视图
	模型


	15.pdf
	图纸和视图
	布局1


	19.pdf
	图纸和视图
	布局1


	30.pdf
	图纸和视图
	布局1


	19.pdf
	图纸和视图
	布局1


	警示语
	图纸和视图
	布局1


	警示语
	图纸和视图
	布局1


	8.pdf
	图纸和视图
	布局1


	9.pdf
	图纸和视图
	布局1


	10.pdf
	图纸和视图
	布局1


	11.pdf
	图纸和视图
	布局1


	4.pdf
	图纸和视图
	布局1


	3.pdf
	图纸和视图
	布局1


	2.pdf
	图纸和视图
	布局1


	1.pdf
	图纸和视图
	布局1


	2.pdf
	图纸和视图
	布局1


	8.pdf
	图纸和视图
	布局1


	3.pdf
	图纸和视图
	布局1


	2.pdf
	图纸和视图
	布局1





